Mrs.Volynskaya  Honors Pre-Calculus

Midterm Exam Review

Due – Jan 5
Name:______
Chapter 1:  Functions and Their Graphs      
1.
Evaluate the function at each specified value of the independent variable and simplify.
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1a.)_____________
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1c.)_____________

2.
Evaluate the function at each specified value of the independent variable and simplify.
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2a.)_____________













2b.)_____________













2c.)_____________













2d.)_____________

3.
Find the domain of the given function.  Use interval notation!
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3b.)_____________
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4.
Graph the function and determine the open intervals on which the function is increasing, 
decreasing, or constant (use interval notation!).  
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4a.)
increasing:____________












decreasing:____________












constant:______________

4b.)
increasing:____________












decreasing:____________












constant:______________

5.
Determine algebraically if the function is even, odd, or neither.  Verify using a graphing utility.
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5a.)________________

5b.)________________

5c.)________________
6.
Given 
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a.)________________________________________________________________________________________

b.)________________________________________________________________________________________

c.)________________________________________________________________________________________

7.
Given 
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.  Find the indicated values.
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8.
Find the inverse of the function algebraically.
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9.
Show that 
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10. 
Given the graph 
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Chapter 2:  Polynomials and Rational Functions
11.
Express each complex number in standard form 
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11b.)_______________
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12.
Solve the following equations for x. 
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13.
If 
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14.
If -2 is a zero of the polynomial 
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15.
A polynomial 
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16.
Two roots of the equation 
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16.)________________
17.
Find all real zeros of 
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.  Use the rational root theorem and synthetic division.













17.)________________
18.
Sketch the graph of the equation (without a graphing calculator).   Use the zeros of the function and the end 
behavior of the function.
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19.
A rectangular enclosure, sub-divided into three congruent pens as shown, is to be made using a barn as one side 
and 120 meters of fencing for the rest of the enclosure.  Find the value of x that gives the maximum area for the enclosure.
19.)________________
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20.
Solve for x.  
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21.
Find all real and imaginary roots of 
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21.)________________
22.
Find a cubic equation having the solutions  
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23.
Graph 
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24.
Sketch the graph of the rational function by hand.  Identify any x-intercepts, the y-intercept, horizontal 
asymptotes, vertical asymptotes, and slant asymptotes.
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x-intercept(s) = _______





y-intercept = _________






H.A. = ______________






V.A. = ______________






S.A. = ______________
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x-intercept(s) = _______






y-intercept = _________
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x-intercept(s) = _______






y-intercept = _________
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25.
Determine whether 
[image: image80.wmf]6

2

2

=

+

-

y

xy

x

 has symmetry in:  
Circle the correct answer (s)
a.  the x-axis

b. the y-axis

c. the line y=x

d.  the origin

26.
Sketch the graph of the quadratic function.  Identify the vertex & intercept(s).
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vertex = _________________






x-intercept(s) = ___________







y-intercept = _____________
Chapter 3 and Exponents Packet (Ch 5 from other textbook):  Exponential Functions and Logarithmic Functions
27.  
Evaluate the following exponential expressions:
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28. 
Solve each exponential equation:
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29.  
Graph 
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30.  
Find the exact value of: without a calculator! 

_______________
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31. 
Express the following in terms of 
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32. 
Solve 
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32.)________________

33.  
Solve 
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34. 
Simplify:
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35.  
Solve for x:
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36.
Solve for x:
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